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—x — X +4xy; <O

— 1721, + 3x3 + 323, <O
— 3x1; — 3x3 + 223, <O
— Txy3 — Taes + 3x33 << O

x; =0 i j=1 2 3.
1-23 1-48
- "4
5 3.000.
1-48
; : ; ) 1# 10 27 20
5 10 000
7 30 000
9 20 000
50
0 17 5 2 1#
5000 20 27 7 9
1 2% 30 000 9
10 000 20—7—9 X 30000+ 9 X 10 000.
Lij t J
1-49
5
1-49
Tij
17 C 10 27 C 20
vy own @y | am xm am an am am
2 0 0 4 2 1 0 0 10 000
1 0 0 0 2 1 0 30 000
0 0 1 0 0 1 0 1 2 20 000
0 3 1 0 3 1 1 4 2
9 9



X3 + Xo3 + Xos + 2.T25 .

X1 — X3 JFIQ:; +T23 ﬁL 2.2”26 - 20 000

9 x4 5 4 7

Zip + xo + 2200 + 205 + 25

Xy = T2 +I22 + 212,1 TLIz:, +I3 — 30 000

7 x 5 2 .
5

21‘11 + 4121 + 21‘22 + 2123 + Ty + Xy + Ty

x5 = 2xy 4y + 2x5 + 220 + 29 + 2, + 2, — 10 000,
4x, 2x5 22, 5Sx;

S = 3x1 + x13 + 3a20 + 223 + 200+ A2es + 22096 + 42, + 225 + 22, + Sas.

min f = 3xy; + 213 + 320 + x93 + 20y + 4o + 29 + 4ay + 225 + 224 + s
s.t. 2xn F4dxa + 2x0 + 2205 + 200 + 22 + 24 — 25 = 10 000
Zip 2o+ 2204 + 295 + 25 — 24 = 30 000
i3 T o3 295 + 2255 — 21 = 20 000

T+ x5 = x
Xoj > 0] ] - 1 6
X 2 0 ] =1 5.
l. Al A2 1’50
1-50
A,
b;
aij Al A,

i 1 9 4 3600




( )
A,
b;
a; A A,
) 27 4 5 2 000
' 37 3 10 3000
aC /) 70 120
2 B[ Bg AI AZ Ai 3
3 3 1-51
1-51
BJ
Cr0 B, B, b )
A 1 1 5
A A, 3 1 9
A 1 3 9
C /D 1 000 2 000
52
3. 3 4 000 5000 3500
4 3 1600 1250
1800 2 000. i j7 1-52
1-52
( /) C /)
G i# i*
17 27 37 17 27 37
17 0.3 0.2 0.8 4 6 12
27 0.25 0.3 0.6 4 7 10
37 0.2 0.2 0.6 5 5 8
47 0.2 0. 25 0.5 7 6 11
4. 7.4 3 2.
2.1 1.5 . 100
5 A B A
2 3 B

4 . 160



240
A
C
6.
1200
15
7.
1
2
60%
8.
9,
1
S.
3
10.

70

800 1 000

X >O.

1 B
400 B 350 C
100
C.
4
150 170 700
900
300 30
30 .
18%
1.4
max z = 3x; —4x, + 2x; — S,
s.t. dxy, —x, +2x3 —x, =2
x +x, + 325 +4x, < 20
<0 x2,>=0 x3=0 a,=0.
min f = 3z, + 2x; 2 max f = 2x; + 5x,
x, +2x, =>4 s.t. 2x, +ta, <12
Il+612>6 I]+212<16
x, =0 x, = 0. x =0
. . 3
min f =— x; + ?xg
31'1 + 21'2 < 6
2.T1 - 31'2 2 3
x, =0 x, =0.
max f = 2x; + 3,
s.te oa a2

Ao, + 6x, <9
X 20

X2 20.
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54

2
11.
min f — 41”1 + 51‘2 - 213
st o+ oo+t as =1
2x, + 3, =1
=0 ;=1 2 3.
Iy
1 I]; — 2 I]; — 3 2 3 I]g — 1 3 .
12.
mln f _ 51”1 - 41‘2
s.t. a +2x, <6
21'1 - X3 < 4
S5x; +3x; < 15
x, =0 x, = 0.
13.
min f =— 2x; — 3x;
s.t.. o+ xo+taxy, =2
41] +6I2 +I4 =9
x; =0 ;=1 4.
1-53 LP
1-53 1-54
X5 Xy X3 Xy E X5 X X3 Xy E
a3 1/3 1 —1/6 1/2 T 1 1/3 —2/3 2
x 2/3 0 1/6 3/2 x 0 2/3 —1/3 2
r 0 0 1/2 9/2 r 0 2 0 4
14.
min f = 2x, — 4x;
s. t. —x + 22, + x5 =2
21'1 I ) Y 2
;=0 j5=1 4.
1-54 . LP
15.
max z = x; + 2x,
s.t. —2x, ta; +a; <2



—x ta, —xs < 1
x, =0 ;=1 2 3.

2 000.
16.
min f == X, — 21‘2
s. t. 31'1 + 4:{;5 =12
ZII - X + X3 — 12
=0 j=1 2 3.
Bl A. 3 A. 1 Bg - A. 3 A. 2
17. 1-55 X3 Xy X5
1-55
Xz x Xy T T, x b
Xy 1 0 0 1 1 2
X3 —1 0 1 0 1 1
r 1 0 0 0 2 6
18. 12
19.
max f = 2x; + 4z, + 3,
s.t. 3x; +4x, + 225 < 60 17
21“1 + X + 21‘3 < 40 2#
X + 31‘2 + 21'3 < 80 3 =
=0 j=1 2 3
z j® i=12 3. 2¢ 3% 17
37 17 27 . 27 37
20. 1-56 6 BB B B B B x; =
0 5j=1 6 T; 6
1-56
X X Xy X3 X x x b
x5 0 0 0 0 1 B B
X Bs 0 —1/2 0 3/2 21/2
x 1/2 0 1 B 0 —1/2 1/2
r B 0 0 B 0 1/2
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Il
2
3
4
)
6
7 K
8 X X,
21. M
1 min f =— 3x; +x; + &3 min f =—x; — 2
s.te o — 22, + ay <11 S.t. 1 —a,— X =1
—4x, + xy+2x; =3 —x, +a, + 225 —x, =1
22, —x; =— 1 x; =0 j=1 2 3 4.
;=0 =1 2 3.
3 min f =— x; — 3x, + x5 min f =—x, — x3
st a1+ a+ 225 + 2y =4 s.t. X1 — X — T =1
—x —+ — X =4 —x, + 2, —x, =1
x, — X5 3 x; =0 =1 4.
36 ;=0 j=1 6.
22,
1 min f =— 3x; +x, + 3x; — 2,4 min f =— x; — 3x;, + 23
sete o + 22— a3+ =0 set. o+ a+ 22 +x, =4
22, — 2x5 + 325 + 3, 9 —x, +2x, + x5 +x, =4
x— X3 +2x3— x4yt =6 31, +3x; +x, =4
;=0 ;=1 5. ;=0 j=1 4
23, LP M 1-57
T X2 XT3 Xy X B B B T Ty 7
1 LP
2 LP
3 LP
1-57
X; x 2 x x4 x X6 b
x; 3 1 —1 0 — 4
) —4 0 B 0 1
x5 —2 0 B 1 Bs
r 0 2+ Mr, 0 FitMr, 0 4




2-1

§ 2.1

m

n

min f = C'X
s.t. AX =>b
X=0
m
u; 1 1 m .
ai;

m
Zaijui < Cj

i=1

n

‘ b;.

n
Z“u‘xj

j=1

2-2

m

m
amj E a(.jul.‘

i=1
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b, bu; z = E bu;.
i=1

m
max gz = § biu;
i=1

s. t. Za,vju,gcj j=1 n
i=1
u; =0 1 =1 m.
U= u Uy, !
max z = b'U
s. t. AlU<C
U = 0.
2-3 P 2-1
Dlaga; =b, D i w, P j
=1

58
Za,,u,v < ¢j. P D
i=1

n m
min f = E Cx; max g = E biu;
= i=1

S. t. Zai_,vxj =b i=1 m
o . Zaijuz
=0 j=1 n. i=1
2-2 P D

min f = 2z, + 33
s.t. 3x;, —2x, =6
o =4

X > 0 Xo z O

2-1

min f = 2x, + 32,— 32

s. t. 3x, — 225+ 225 =6
— 3z, + 22— 225 =—6

o+ ah— =4

m

m

2-3

2-4
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P
max z = 6v; — 6v, + 4u,
s. . 30, — 3v, + uy < 2
—2v, + 2v, +u, < 3
20 — 2v; —uy; <— 3
v =0 v, >0 wu, >0,
u = v — v

max z = 6u; + 4u,
s. t. 3111 + U < 2
- Zul +ug =3

u, =0 u, =0.

P
min f = 2z, + 3,
31‘1 7212 - 6

D
max z = 6u; + 4u,

s. t. u1§0

x ta, =4 u, =0
x =0 3up t+u, <L 2
1Z§O *Zul—l—uZ:S
D [Z5] P
Z, P
D
P D
min f = chxj max z = Zb,-u,-
j=1 i=1
" s.t. u; =0 i € M, 2-6
Dlajae; =b i€ M, 2-5 _
j=1 ui§0 i€ M,
Zaijxj = b i€ M, Zaijui <¢ JEN
j=1 i=1
;=0 j &N m
! ) l Ea,,u, ¢c; j & N,.
x;, =0 7€ N, iz
MiONM,=0 M UM =1 m
Nl ﬂ Ng - @ Nl U N2 - 1 n .

P

D
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1 min f = > ¢ > =
=
2 max g = El)[u[.
im1
3 b, D
Uu; Uu; >O u;
4 P x; D P
x; =0 D < ¢ x; =0 Ea,_,u, = ¢
i1 im1
P D
5 M =g
Ng - @/ P LP .
P D
min f = ch:(,- max g = Zb,u,
j=1 i=1
" s.t. u;, =0 1= m
s. t. Ea,-].rj =b 1=1 m ’<
=1
a;u; < ¢ =1 n
x; =0 j=1 n. 2-7 Y =9
60 2-8
LP LD
min f = C'X max z = b'U
s.t. AX =0b 2-9 s.t. U=0 2-10
X=>0 AU < C.
2-1 P .
D 2-6
min ¢’ = Z —b; u;
i—1
u; 20 2 e Ml
U; 2 0 ie M,
2 a; w, =—c¢; j &€ N;




n

s. t. 2 —a; Xj <7b1 ZeMl

i=1

i —a;; x;=—b; i€ M,

i=1

;=0 j € N,

P 2-5.
P D

2-3

max ¥ = 2, + x5+ 4,
s.t. 2x + 31+ =1
3x) — aht2x, < 4
x4 4+ a3 =3

21 =0 2,<<0 x; =0.

2z +3xt+ 2, =1 —2x — 31— x5 <
Th=—1x, 1, =0 P

max z = 2x, — X, + 4,

s. t. —2x, +3x;, — a3 <—1
32+ x, +2x; < 4
x + x3; =3

=0 2, =0 a3 =0.

min f =— w, + 4du, + 3u;

s. t. —2u; +3uy +us =2
3u; + u, >—1

— w +2u, +u; =4

M[}O H2>O l/lgzo.

2-4 P
maxz = x, — X, + a3 — x4
s.t. o +ta,+as+x, =8
0 a <8
— 4 <l x, <4
—2<x; <4
0 << &, < 10.




max sz = x; — Xy + a3 — x4
s.t. x taxtast+a, =38
X <8
X < 4
—x; <4
X3 <14
—x; <2
x, < 10
=20 2, =0 a3=0 a2, =0.

min f = 8u; + 8uy + 4dus + 4duy + 4dus + 2us + 10u;

s.tew tus =1
Uy + u; — uy =—1
(75} +u)_lf{6 71
U +u7>—1
w =0 wu =0 j=2 7
62 § 2.2
LP mnCX|AX=0b X>=0
LD max b'U | ATULC U=0
P D . LP Kip LD

KLD .

H
<>
|
a
|
>
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CX=>bU=CX
X LP U LD
2-3
1 LP LD
2 LD LP
3 LP LD
4 LP X B
U= CB'™ LD X =bU"
5 LP X LD U X =bU"
6 LP LD LP
7 LD LP LD
1 LD U Xe K, CX=bU LP
K. LD
2 1
3 )
LP X LD U X € Kip CX=>bU
LP Kip LP LD
4 B T B
r, = ¢ —C;BilA ;=0 j=1 n
U TA.,, <¢, j=1 n
AT 1 C
U < AU <
Al, Cn
U* 6 KII)-
bVU" = U "b=C,B'b=f, =CX"
2-2 3 U° LD X =bU".
5 LP X' 1-1 LP 4
LD U’ X =bU".
6 LP 5 LD LD
LP KLP
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7 6
2-3
P D
P D
min f =— 2x; + 3, max z = 3u; + uy
s. t. —x; =3 u =0
21‘1 +312 2 1 U > 0
=0 2u;, <— 2
1220. *u1+3u2<3.
3
1
2
3
P 2-1
2-1
(P) (D)
Ky # 3, f—>—o0 /
‘ Kp # &y z—>+0
2-5
P D
min f =— 6x; — 4x, max z = 4u, + 2u,
s. t. —x —2x, =4 —u, — 2u;, <—6
v > 0 [Z5] > 0
xy =0, u, =0,
u; U, T = P *1'2*21'2
>4 2-37 D
2-2 2 3 LD
X" Cc—A'U
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n m
min [ = E Cjx; max g = E biu;
i=1 i=1

s. t. u,}() ZGMI

Z/ 1 w=0 i€ M,

Ea,,a‘j =0 i1e M, Ea,ju, <¢ j€EN
i -

z; =0 5 € N,
1‘12()]'61\72.

m
Zaijui =¢ JEN,
i=1

2-4 X = 2 kY 2,7 U
i, P D P
?,(LJ—Za,-,-z?,)*O j=1 n

i=1
( a,jy?j*b,)ﬁlzo 1 =1 m
i=1
P D P
X ;>0 jEeN D Za,ju,v < ¢
i=1
Dras=c, jEN
i=1
U 2, >0 ieM, P ay®=b,
j=1
Dlayii=b i€ M, .
j=1
P DlaE>=b i€ M, D
ji=1
4, =0
D Zaiﬂ//ii< ¢ JEN, P
=1

2-12

jEeN

e M
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2-6
P
max 2 = 3x; + 212, + 8x;
s. t. — 4z, +3x; — 1223 <— 12
X 4+ 4a; <6
Xy — X3 — 2
X1 20
Xy >O
X3 >O.
XA = .7?1 fz i\?
P D
X=620" P
w U, U D
flz 6>
*431“’“ ﬁ?
-7?2: 2>
30+, = 2
— 42,4+ 32,—122;=—4- 6+ 3-
'LAH: O.
ﬁ — ﬁl az ﬁS
D
X U P D
P D 2 = 22.

2-3 3

D
U, 2 0

u, =0

u; = 0

— du, + w, =3
3uy +tu =2

—12u; + 4uy, —u; = 8.

e
-

2—12- 0 =—18<<—12
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B LP r,=¢—CB'A., =0 j=1 n
U= C,B'T LD
B U= CB'" LD B
B B'b=0 X LP
j=1 n r; =0 U= CyB'" LD B
B LP ciB'T LD
LP _—
B
T B b =0 i=1 m r;
U= C,B'" LD LP f
f fo. b, =0 i=1 m
r,<<0 ;=0 j=1 n . fo /.
x, v b T,
B
T B rp =0 57 =1 n U =
cB' T LD b, LP
X f()
fo=CLb=C,B'b=U"b=0b"U.
2-2 1 LP 7 fr=b00 f = f.
=0 j=1 n by <0 b =0 i=1 m
fo fx. \TB“
X, ko1
TB b>=0
b, =min b, | 1 <i<<m 2-13
k. 1-34
/ by
fO:fO_'_i/\r/-
ym
r=0 b, <0 fo=f Y < 0.
1-33
r;: r; —;/:rl =1 n.
r; =0 r, =0 y, <O. Y =0 =0 . v <0

ri}O
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7, T
o> 7 j€eIp iy <0

=
Ykt Vij
t
i :max{L vy < 0 j € Ipl.
Y Vkj
t T B v < 0 =1 m
LP K k T B
j =1 n T B k
B, —O—Zwa- Ek
j€lp
ykj>() jell) Zk<0 ]:1 n X
K
2-5 X LP B T B r= n
Z/‘,<O ykj>o ]:1 n IJP
@D LP I B B U= CB'"
T B
@b, =0 1 =1 m
68 - _
X[; - b X[) - 0 LP f-() f
kb by=min b, | b,<0 1<i<m.
@ykj =0 j=1 n
LP
t
i :max{L vy < 0 j e Ipl.
Vit kj
@ Vet T B IB ID @
2-7 P
min f = 2z, +4x, + 624
s.t. 2x;,— x;+ a3 >=10
21‘27 X3 24
;=0 j=1 3.
LD
min f = 2z, + 4z, + 623
s.t. 2x,— a,+ a3 — =10
+.Tg - 12

x, +2x, + 2,

2-14

ykj >O



27, 75 —xs = 4
;=0 =1 6
I; = 5 6 2-2 2-3
2-4

2-2
X5 ksl '8 X3 Ty X5 Xg b
X, (—2) 1 —1 1 0 0 (—10)
xs 1 2 2 0 1 0 12
X 0 —2 1 0 1 —4
r 2 4 6 0 0 0 0
, 2 6

i/ Ve (jz) jl

2-3
X5z X To X3 Ty X5 X b
T 1 —1/2 1/2 —1/2 0 0 5
x5 0 5/2 3/2 1/2 1 0 7
X 0 (—2) 1 0 0 1 (—4)
r 0 5 5 1 0 0 —10
, 5

Vi) Yej ( —9 )

2-4
X3 X Xy x5 Xy x5 X b
X 1 0 1/4 —1/2 0 —1/4 6
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X 0 —1/2 0 0 —1/2 2
r 0 0 15/2 1 0 5/2 —20

X 6 2 07 [ = 20.
2-8

s.t. —2x, +3x, =6
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s.t. —2x, + 32, — 2, =
3x, — 6, —x, =4
;=0 j=1 4,
Iy = 3 4 2-5 2-6
2-5 2-6
X5 x £ x5 x4 b X3 x x 7 z b
x; 2 (—3) 1 0 (—6) k) —2/3 1 —1/3 0 2
T, —3 6 0 1 —4 x| 1 0 2 1 —16 ]
r 5 3 0 0 0 r 7 0 1 0 —6
2_6 /)2<O y2j20 ]:1 2 3 4
$ 2.4
1.
P
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S. t. AX *XM - b LP
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C71+1 Cu+m O O
A A - € e, =—1
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Xy = a1 Lot LP LD
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LP B TB. U= C,B'"™ LD
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U>0
U =—U = C,B'"7 [ ==bU".
P D
min f = b'U
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min f = 6u; + 4u, X v i 1-4 b
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§2.5
2-12 3 2-9
2-9
i
a; A b;
17 27 37
17 3 4 2 600
7 27 2 1 2 400
37 1 3 2 800
¢ 2 4 3
i° x;
3
max g = Z Cix; = 2x +4x, + 33
=1
s.t. 3z, +4dx;, + 22, < 600
21‘1 + Xo + 213 < 400
x, + 3x, + 225, < 800
;=0 =1 2 3.
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3
min f = Z(‘jxj =—2x, —4x, — 31,
i—1
s.t. 3x, +4x, + 225 + x4 = 600
201+ x5+ 224 + a5 = 400
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min f = P, d{+d, +P,d;+P,d +P, d,+1.5d,
s.t. +d,—d; =30
x,+d,—d, =15
8x1 + 122, +d;—d, = 1000
x, +2x,+d,—d] =40
1 =20 2,20 d, d, =0 q¢qg=1 2 3 4
1 d, d, d, d, 4-4

P,

C P>
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30

1000

40

1000

105/2

P,

P,

P,

1.5P,

P,

X1

(@Y

12
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(e}

0

3/2

3/

—

X

d,

- =

<

[N

Cy

1.5P,

P,

AR

~

a8

8]

7'2<0

71<O

X2

4-5

~

4-5

30

820

127

10

8§20

30

X

12

—12

@Y

0

12

12

3/2

X

P,

Pl%

P,

o

71<O

4-6

4-6

20

740

10

740

20

d,

d,

d-‘

d;

X2

ko

@)

8

8

1/2

Xl}

P,

P,

P,

P,
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4-7
X ) T d, d, dy d, dl dy d, df b
d; 0 0 1 2 0 — — —2 0 1 20
x 0 1 1 0 0 —1 0 0 15
d; 0 0 -8  —12 1 0 8 12 —1 0 580
x 1 0 1 0 0 0 —1 0 0 0 30
P, 0 0 0 0 0 0 1 0 0 0
P, 0 0 12 0 0 — —12 1 0 —580
P, 0 0 — —2 0 1 1 2 0 0 —20
P, 0 0 3/2 0 0 0 0 0 0 0
r . £y =580 >0
X= 2 x dy d, d; d,di df df 477
= 30 15 0 0 580 0 0 O O 20 T,
4-5
min f = Pyd |+ Pyd,+ P, 5d;+3d, + P,d]
s.t. o +2x+d, —di =6
o +d,—d; =2
=0 x>0 d, d;=0 q¢=1 2 3 4.
4-8
4-8
X, 1 s dy d, dy d, d, d; dy d b
x 1 0 0 1/2 1/2 0 0 —1/2 —1/2 0 13/2
dy 0 0 —1 1 0 0 1 —1 0 0 3
dy 0 0 0 —1/4  1/4 1 0 /4 —1/4 —1 3/4
x 0 1 0 /4 —1/4 0 0 —1/4  1/4 0 5/4
P, 0 0 1 0 0 0 0 0 0 0 0
P, 0 0 0 0 0 0 0 1 0 0 0
P, 0 0 0 3/4  17/4 0 0 —3/4  3/4 3 —9/4
P, 0 0 1 —1 0 0 0 1 0 0 —3
4_8 Pl PZ
Pl PZ X + 21‘2
6 9
P; P,
P P,

P, P, 94 3 P, P,



Pg d; =0 3 X1 _21‘2

4 =132 2, =54 d;, =0
T, — 22, =4 x,— 2, 4 d, =3 4 4
X9 2 Xy — 5 4 2 P4
di =3 x, + 2, 6 x, +2x, = 9.

4-8
Lp “ " “ "
4_2 b ” “ ”
M
4-2
d d’
P, — g v 129
dm = d- d .
P,
f(; . ‘f‘(;< PO
S 4.4
P, w,,
.
w,,
4-6 4-5

min f = P,d, + P,d, + P.d, + P, 5d, + 3d;

4-8 d dy d, fo
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ri=c¢ —CyB'A., f, =CyB'b
4-9
4-9
C 0 0 P 0 5P, 3P, P P, 0 0 N
b
Cy X . x d, d, d; d, dy dy dy dy
0 T 1 0 0 1/2 1/2 0 0 —1/2 —1/2 0 13/2
p, dy 0 0o —1 1 0 0 1 —1 0 0 3
3P, d, 0 0 0 —1/4 1/4 1 0 1/4 —1/4 —1 3/4
0 T, 0 1 0 1/4 —1/4 0 0 —1/4 1/4 0 5/4
P, 7 0 0 1 0 0 0 0 0 0 0 0
3 P, 7 0 0 0 0 0 0 0 1 0 0 0
! P, | 7, 0 o 1 -1 0 0 0 1 0 0 —3
P, 7 0 0 0 3/4 17/4 0 0 —3/4 3/4 3 —9/4
d, ——P,+ 34 P, <0 4-9 d,
d, 4-10.
4-10 i =f =f =0 fi =92
i - Xy T = 5 1 2 T.
4-10
X, ) x dy d; dy d, dy d; dy d; b
X 1 0 1/2 0 1/2 0 —1/2 0 —1/2 0 5
d, 0 0 —1 1 0 0 1 —1 0 0 3
d, 0 0 —1/4 0 1/4 1 1/4 0 —1/4 —1 3/2
Xy 0 1 1/4 0 —1/4 0 —1/4 0 1/4 0 1/2
P, 0 0 1 0 0 0 0 0 0 0 0
P, 0 0 0 0 0 0 0 1 0 0 0
P, 0 0 0 0 0 0 1 0 0 0 0
P, 0 0 3/4 3/4 17/4 0 —3/4 0 3/4 3 —9/2
4-7 4-5
min f = Pd,+ P,d,+ Py od, +pd, + P.d; a >0
P; dy d;
a B
1 4-6 4-8
d, d, d, d, d/
r, =c¢,—CyB'A.;, f,=CiB'b fo
2 P, 4-11 .dy d, di

a—p 4 P;



|
4-11
c 0 0o P 0 aP;  pP; P, P, 0 0 B
Cy X ) v dy d, dy d, df dy di df b
0 X 1 0 0 1/2 1/2 0 0 —1/2 —1/2 0 13/2
P, dy 0 0 —1 1 0 0 1 —1 0 0 3
BP, d, 0 0 0 —1/4 1/4 1 0 1/4 —1/4 —1 3/4
0 X 0 1 0 1/4 —1/4 0 0 —1/4 1/4 0 5/4
P, 7 i 0 0 1 0 0 0 0 0 0 0
P, 7 0 0 0 0 0 0 0 0 0 0
P, P 0 0 0 B/ a—p/4 O 0 —p/A B4 8 —3p/4
P, 7 i 0 0 1 —1 0 0 0 1 0 0 —3
O af>14 dy =0 X'= 132 547
@ ap<l4 dy <0 d; d;
X'=5 2"
® ap=14 d; =0 X' X° X =
AX' AL XA Fa=124=0 =0
131
1.
min f = Pyd,+ P,d,+ P; 2d,+d,
s.te aFa,+d,—d =40
x +a,+d,—dy =50
) +d,—d;=24
x tdx, +d,—d, = 30
=0 x>0 d, =0 d,=0 g=1 2 3 4
2.
1 min /= P,d,+ P,d,+ P, 5d,+3d,
s.t. o+ a+d, —d =80
o+ ax,+d,—dy; = 90
.T1+d;—d§:70
x +d,—d =45
=0 x>0 d, d;=0 gqg=1 2 3 4.



2 min f = P, d,+d, + P,d,+ P,d;
s.t. 4x, 452, +d —d =80
4a, 4+ 22, +d,—d, = 48
8x, + 10z, +d,—d, = 80
o +d,—d=

q q

5
=0 x,>=0 d, =0 d/ =0 g=1 2 3 4.

3. 1 000 A B C3
A B C3 5% 7% 10%.
1 A 300
2 35%
3 10%
4
4.
min f = P, 2d, +3d, + P.d, + P.d,
s. t. 1'1+ Xy +d?_dT:10
132 z, td,—d; =4
o+ x,+d,—di=12
x x, d, d)=0 g¢=1 2 3 4.
4-12
4-12
X5 7 T, d, d, d, d, dy dy dy dy b
R 0 1 —1 0 0 — 1 0 0
x 1 0 1 0 0 0 —1 0 0
d, 0 0 — —2 1 1 3 —1 0 18
d, 0 1 1 0 0 0 1 0 —1 2
P, 0 0 0 0 0 2 3 0 0
P, 3 0 —3 —2 1 —18
P, 0 0 0 0 0 0 0

min f = Pyd,+ P, 2d;+3d, +P.d’

2 d,



IP .
5-1
mlnf:_I] — X
s. t. 141‘1 +9TZ < 51
761‘1+31‘2<1 133
x, =0 i=1 2.
Xy X
5-1 X" =z x "= 1.5 3.33 7
—4. 83.
Z2 —6x,+3x,<1
5-1 >0 ! z
3_
2_
Xx X Xy
4 1
T T T T ) x>0
2 3 1 3 2 4 1 4 by Y Y Y \ ! N
ol‘.\\ 1 2 3
9 91 \4 \\\ iz, +92,<51
L 5-1
IP 1P n
2" n = 60

2% A 10"
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5-2

5-1

j
x; << My,
yi =20

j=1 2 3

5-3

§5.1
0o 1
A1 AZ A'g 3
d]
A; x;. 0-1
1 0
;i S| o j=1223
10

maXf = 1 +C2«T2 +C3«T3 _d1y1 _dgyg _dgyg.
3

o <My, j=123

x; >0 x; << My, Vi
dj . Ij - O yj - 0
Vi 0. yi =1
max f
7 x;

22, + 5x, + 63 << 180 4o, + 3z, + T3 < 240

0-1 v

2x, + 5x; + 623 < 180 + My
4y +3x; +Txs < 240+M 1 —y

0-1
A;
5-1
1
1
y; =20
j=1 2 3



M .
y=20 Aoy + 3z, + T2y <L 240+M M
21, + S, -+
6x; <180 y=1
22, +5x, +6x; < 180+ M . 0-1
P
Ea,,:('_, < b, 1 =1 p
=1
q p 0-1 Vi
Eau»xj<b;+My,- i =1 p
=1
P
Dvi<p—g
i—1
yvi=0 1 1 =1 p
5-4 x,
Fx,220
5-2 /\
xl+xz>3<
3
z,+ 22,2 2
I]+IZ>3 11+»T2<4 /\1
L Do =0
X + 212 < 2. 0 7 2\3\\}3 Ty
— T a4
0-1 Y1
5-2
x +x, =3 — My,
x + @ < 1 +My1
X1 +2Tg <2+M l_y] .
~T1+~Tz>3 ~T1+Iz<4 yi =0
X1 < 1
x <2 xp, L2 5-2
x, < 1.
O’l V2 V3 V4 5’2

X1 <1+Myl +My2
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X3

5-5

0-1

xr < 2+ My, + My,
x, < 2+ My, + My,
x, < 1+ My, + My,
v tystye =2 1—y .

x, +a; =3 — My,

x T ax, < 4+ My,

x < 1+ My, +My,

) < 2+ My, + My,

xy < 2+ My, +My,

x, < 1+ My, + My,
yvetystwm=21—ymy

x T 2x, <2+M 11—y
=0 j=1 2

yy =01 ;=1 2 3 4.

2 3
max [ = x| + x,x5 —

. t. —2x, +3x; +a; < 3
x =01 ;=1 2 3.
E>0 0-1 x; 2=z
f‘:‘rl—i_l'zl'g*xg.
X3
1 T, = a5 = 1
y =
fo
rtar,— y<<1
—x; — a3 + 2y < 0.
5-4 y=1 y<1
5.4 y<11;’13

max [ = x, +y— x;
— 22, + 3x, + a3 <3
Ty tas— y<1
— Xy — a3 T2y <0

5-3



y=0 1
0-1
y X9 X3 5-3 3
2+ a; —y <<l
Y=<
y=< ;.
z, = x5 =1 3 y=1 T, X3
y = 0. 3
v 0-1
max f = x, +y— a3
s. t. — 22, +31'2 + x5 <3
~T2+I3_y<1
NS
Vs
X =0 1 Xy =0 1 yZO.
k 0-1 x; x x;
0-1 y X1z Xy
k
Dy —y<k—1
=1
k
— D a+hy <0
i=1
x; =0 1 j=1 k
=0 1
y 1T, X k41
k
x,—y<<k—1
ji=1
ysz =1 k !
y>o A § ! Bl B, B% Bl
;=01 j=1 k :
A, 3 5 4 1
A =1 A 4 B j—1 A, 3 4 5 1
A, 6 7 5 2
4 A, B; Ly
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5-1
4
O’l X
1 A, B,
X =
fo
4
v, =1 =1 4
=1
4
=1 j=1 4
i=1
y
y = max 3xn + Txy +3x5 + 6 Saip + 2a0 + 4xy + Ty
dayy 4 235 + 5235 + 05245 21y F 322 25 + 220y
y 2 3xn + Txs + 3xa + 64 y 2 Sy, + 225, + A, + Tx
v = 4dxys + 205 + 0733 + 0243y = 214 + 32000 + 2034 + 22044
138
min f = y
4
S. t. 21,,21 =1 4
=1
4
Dlay =1 j=1 4
i=1
y =3y + Ty + 35 + 6
V=021, + 225 4 + Tay,
y > 4oy +TZ.> + Sx3; + Sy
V= + 3xs + a0 + 224
o, =01 i j=1 4
y=0.
5'7 A] AZ A3 3
- ai=1 2 3 70 80 90
. d[
N | B| B | B 100 90 120. 3 B, B, B,
by j=1 2 3 40 60 45
" S R A B c 52
A, 2 3 4 T / i
A, 6 4 5




1 A,
vel!
X A, A, B,
Vi +y2 JF_V:& = 2.
A,’ A,’ Bj A,’ Ai
B, A, a,
xa + a0k +~Ti3<“iyl =1 2 3.
B,
x; txa; +xs; = b j=1 2 3.
’
303 3
f - 2 ECU‘TU + Zd;y,-.
i=1 j=1 i=1
min f = 4x;; + Sxy; + 3215 + 225 + 3xs + 4y
+ 6131 + 41‘32 + 5T%2 + 1OOy1 + 903/2 + 120y3
s. t. xn Fxn +a <70y,
To1 T+ Zop + X25 < 803’2
Ta x5+ 233 << 903
X1 +~T21 +I31 = 40
X1y + a2 + 232 = 60
2y x5 + 253 = 45
ity ty =2
;=0 i j=1 23
yvi=0 1 i=1 2 3.
5-8 17 27 3% 47 4 3 17 27
37. 3 5-3
27 d
5-3
j° ( )
1 2 3 4
1 a; as a,
7 2 by b b,
3 Co ——— > C3
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17 17 3F 47
an ta < ay x tas <114
27 3%

X+ 0 KXoy T2 0y o Ty 0 <K g3

1% 1% 27 27 17

xn ta <L agy xy b < a1,
0-1 i
ta <xg My, 20 +b6 <ay +M1—y,
0-1 Voo V3 Vi 2% 3% 47

Toy + by < 230 + My,
Ty 03 < ap +M 11—y,
140 xiy T ay < xgy + My,
Xy T oy <apy +M1—y,
xy T a, < x + My,
oy +b0, <L xy +M1—y,

vy =0 1 j=2 3 4.
27 17 X21 4% Im“‘[h

Xoy +b4 — X < d.

3 hY

y=max xy t+a; Ty +b 235+

vy = a2t ay V= by V= a3 1 cs.

min [ =y

s. t. xn ta <
x13 +as < xuy
xn + b < an
Ny + b, < T4



X32 + Cy < X33
rn ta < an + My,

xn +bo < xn +M1—y,

X2 +/72 < T3z +My2

32 + Cy < X2 +M 1— Vo

25 Fa; < as + My3

Ty oy < 2 +M 1_3/3

x1 T a, < X2y "‘MJM

X by < xy +M 1 — V4

Xy + by — an < d

y = au +ay
v = T -+ b,
V= xy e
y; =0 1 =1 4
y=0 x; = 0.
5-9
5-4 400
5-4
( /)
4 3 480
2 5 500
C /D 300 520
1 1 30 200 31
70 190 71 195
2 40 200 40
195
X, X 5’4: 120
1 1 = 23 T, + x5 T3 Xy Xs
0 < X < 30
0<ax; <30 x, =0 s = 0 5-5
30l a; <70
x; = 30 0 << axy <40 x5 = 0 5-6

70 < 2 < 120
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x3 = 30 x, = 40 0 << a5 < 50.

100x; + 1102, + 105x; 120x,.
0-1 v Vs 5-5 5-6 5-7

30y, < &y <L 30 40y, < x, < 40y, 0 < a5 << 50y,.

yi =0 v, = 0 5-5 yi=1 vy, =0
5-6 n=1 y =1 5-7 =0 y, =1

max f = 100x; + 1102, + 10525 + 120z,
s. t. Axy +dxy + 4xs + 3x, < 480

225 + 2x, + 225 + 5x;, < 500

30y, < oy <L 30

40y, < &y, << 40y,

0 < x5 <50y,

x; =0 j=2 3 4 5

yy =01 ;=1 2.

2 xr = x5 + a2, X3 ay
14 0< o <40 0<a3<40 x, =0
10< v <120 x5 =40 0< x, < 80.
0-1 v
40y < a3 <40 0 << x, << 80y.
y=0 5-8
300 — 200 x; = 100,
y=1 5-9

10523 + 1052, = 100x; + 1052, + 523 = 100x; + 1052, + 200.

1005 + 1052, + 2003y.

max f = 100x; + 1052, + 200y + 120,
s. t. day + 4z, + 32, << 480

225 + 22, + 52, < 500

40y < a3 << 40

0 x, <80y

;=0 ;=2 3 4

y=0 1.



5-10 3 j
5-5 j® 5-6
5-5 5-6
IE
i
14 ot g%
1 0.6 0.75 0.7 N 30 3
2 0.75 0. 85 0.8 j* 2* 40 4
3 0.8 0.9 0. 85 37 50 6
3 25 240 ¥
]'#
1 Jj° i g7
X, =
0
j* 1 2 3 j*
3
Dlayg =1 j=1 23
i=1
3
i’ 2,

3 3 3
30 D ixy 40 D iz, 50 D iz, < 240
i=1 i=1 i=1

i=1

3 3 3
321'1,1 +42i~r12 +62if,-3 < 25
i=1 i=1 i=1

R,
R,
R,

R = RlRZRH

= 0.6 " 0.75 ™ 0.8 "
= 0.75 "™ 0.85 ™ 0.9 @
= 0.7 0.8 0.85 "

f = a1, log 0.6+ x5,1og 0. 75 + x5, log 0. 8 + x1,1log 0. 75

+ X2 lOg 0. 85 + X3 lOg 0.9 + X3 10g 0. 7 + o3 10g 0. 8

+ x4 log

0. 85.

max f = x,;log 0. 6 + x5, 1og 0. 75 + x5,log 0. 8 + x1,10g 0. 75
+ Xog log 0. 85 + Xo3 log 0.9 + X3 log 0. 7 + X3 log 0. 8
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3

st Dyay =1 j=1 23

i=1
30 > iz +40 > i, +50 > ir, < 240
i=1 i=1 i=1

3 3 3
3 iz + A ix, + 6 ir, < 25
i=1 i=1 i=1

2, =01 4 j=1 2 3.

5-11
5-7
6
5-7 <
1 3
2 5
3 2 2
10 4 6 1.3
5 8 2
4 6 3 4
5-7 1 2 3
4 5 6 4
144
1 J
w; = =1 4
B f
1 l J 1 =1 6
Xy — R
{O j=1 4
min f = wh +w2 +ZU3 +w/|.
i
xn tap tas oy =1 1 =1 6
J
10
3x1; + 0xy; + 23, + 62y, + 8xs; + 3x; <10 j =1 4
J 6
w; = 0 x; =0
xy + xy +xs; +ay +as; s <K 6w j=1 4



3 4
3
2 4 1 2
Zo1  Xay + X3 = 3.
a3 = 1 X1 Xzz  Xo3 1 3
3
191+I>2 1912131
5-7 3
x0T xs > X43 a1 + a0 > Ly2 X1l 2 R
Xy X3+ X3 > Xy3 x5 + 2 2 Ly X31 2 RS
Zar + Xoy + X3 > Xs53 T+ 2 2 Xs52 X1 2 X51
Ty T an tap 2 X3 xy + xp 2 X2 Ty 2 X1
6 4
28 29
5-12 5 A A,
A, A, A;. A, ; a;
5-3 A, A, i=i+2
A; i a; A,
t;
Ay As Aj Ay As
221 Ca C3 °
o t, ty t, A A, A,
o o
e AT HII
dqz
" AR —KEH
Qg4
5-3 5
S
5’4 a;; AJ ] 2 7 + 2 Ak
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Ak Ak Ak
Ay A,

1A A
yﬁ_{ j=it2.

S=ca yutyutys +teo yutys +oys
2 2 2 3 3 3 3
+[2 L3 +1'1,1 +115 +t3 Ty +113 +1‘24 +I’25
4 4 4
T, Xyt Ty T X

A,
A, As as
AZ As A4

2 3 1
x, oyt Fasys = as.

ais A, A A, 3
RO V3

x, <My, < My, x,, < My,

Jyl Tyt <1

lyj =0 1 j=1 2 3.
Iix +xf/1 T auyu = au
foa < My, qu <My; y+y =<l
lyy =01 j=45
Ii +azyis = as.

A, A,
A, . A, A,
L #£0 2 tan A A,

xis _’_1‘25 + Ifs T axn yi = Ifs +as.
3 1
Jx25<My5 Lys <My7 ys+y7<1

lyy =01 j=6 1.

5-14

0-1



$;5+125+ aiqs +d25 Vs >1€S+a25‘ 5‘16
@ ai; =, 5-14 5-16
@ 5-16 Vo5 — 0
3 4 2
Ls +125 > Lys + as
min f f
I; er; - Ifs +as;
5-14 . Nos — 1 ags +a25 2 1?5 +ag5
3 1
x,, +x,, =0
5-14
A, A,
3 2 2
Ly + Xy +ay yu = Ly +ay
As As
4 2 3 3 3
Ty + x tay tas yis = ), +an, +oass. 147
I; + autau yu = If,l +ay
I; + a5 tan tays v = ITS +I§J + a;;.
1”15 > 0 Al A/l N — 1.
1117 < MyH
3 3
x>0  x,>0 Vi 1
2l 2, < My
Ty >0 Yo =1
Ty < My,

min f = 1 Y3 + Y + is + e Vou +y25 + C3Y35
+ 1 liz _’_Ti —|—x?5 + 1 xl +1:) —Fx; + xz)
+ 1, x; + xzs er;
s. t. 17?5 +I?) +l:5 +aisyis = as
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5-15
1
2
N, C 1
3 0-1
;=
5.2.1

xi Jr.r'; +ay yiy = au

1‘; +ayys = ay

125 +I;5 + ais Tan Yy = Ti + as;
a5+ an tan yu =), ta

Ty T oas Fas Fas v = x5, + ass
Iffv < My, Ifs < My, l"js < My;
vty oy <1

1‘?4 < My, 1:| < My;

ity <1

x, < Mys  x, < My,

yo tyr <1

111) < My,

@), < My

1';5 < My

x, =0 i<k<j i=1 23 j=3 4 5
vy =0 1 i=123 j=345 j=it2
v=01 j=1 7.
3 5-10
AIP
min CX|AX =b X=>0 X
MIP

n

LpP X 0 1 BIP .

A - aij m Xn b - bl bm T C: (&) Cy T

m j =1
5.2
AIP Kap. AIP

LP LP K.p.



LP . LP X X"
AIP X LP
X LP K.p
LP, X" X
X AIP
5-13
mln f i 711 - 91‘2
s. t. - X + 31‘2 < 6
71‘1 +1‘2 < 35
x; =0 j=1 2.
x10x, P 5-5
P Xl = X X9 - (% %
xz - 2 20
41 12 —x;+32,<6
12<3+ 3 +
(2‘»/- N
>0 14 o+ e T ST
i R R I T
v, Tz, +a,<35
5,
p T, P, X =
:
(% 3) P] X +]"2 < 7
Pz . Pg X3 /l
5.2.2
xr =x—|x x =0
40 _ _ _ 9 __ 40 - —
x - lx =5 x]=6 7 x 7 | x 6 ]
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P X AIP . Kur C Kip
LP X T B

g, + ZLy,j o g;,

i€lp

X € Kap D. ¢ 5-18

T, + Zty{j X gLZ, .

i€l
5-17 5-19
Z y’f 7Ly"f. I/ 251 7L51 Z — 1 m
jelp
o 2 Vi X< b, 1 =1 m.
jelp
150 5-20  AIP X
B LP X' LpP B X
7 =0 i€l x=bi=1 m b 1< k<m
by > 0.
5-20 [ =k _2 vy x; =0
i€lp
5-20  X° . x*
- 2 Vi X < by
i€lp
5-8
— X KI,P
X5 XB; T b Lp b .
. - yi b 5-8
r T L By o 591
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